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FINAL ANSWER KEY

Paper: The Indian Penal Code (Paper 1)
Date of Test 21-03-2022
Question1:-Find the section which excludes the State of Jammu and Kashmir from India for the purpose of IPC.
A:-Section 17
B:-Section 18
C:-Section 19
D:-Section 20

Correct Answer:- Option-B
Question2:-'A' intentionally causes Z's death, partly by illegally omitting to give food to 'Z' and partly by beating 'Z'. What is the offence committed
by 'A'?
A:-Culpable Homicide
B:-Causing death by Negligence
C:-Murder
D:-Attempt of Murder
Correct Answer:- Option-C
Question3:-What is the age limit prescribed under Section 90 of IPC with reference to consent of a child?
A:-10 years
B:-12 years
C:-14 years
D:-16 years
Correct Answer:- Option-B
Question4:-Find the section which deals with the definition of Criminal conspiracy
A:-Section 120A
B:-Section 120 B
C:-Section 121A
D:-Section 124A
Correct Answer:- Option-A
Question5:-An Assembly of or more persons is designated an "Unlawful Assembly", if the common object of the persons comprising that
assembly is to commit any mischief or criminal trespass.
A:-Three
B:-Four
C:-Five
D:-Six
Correct Answer:- Option-C
Question6:-Find the section which deals with giving false evidence under legal oath.
A:-Section 190
B:-Section 191
C:-Section 192
D:-Section 193
Correct Answer:- Option-B
Question7:-Find the section which governs Private Nuisance?
A:-Section 268
B:-Section 274
C:-Section 280
D:-None of the above
Correct Answer:- Option-D
Question8:-Which of the following is the serious offence?
A:-Murder
B:-Culpable homicide
C:-Justifiable homicide
D:-Excusable homicide
Correct Answer:- Option-A
Question9:-A, a police officer, tortures B to induce him to point out where certain stolen property is deposited. What is the provision under which the
offence is committed?
A:-Section 320
B:-Section 330
C:-Section 340
D:-None of the above
Correct Answer:- Option-B
Question10:-Which of the following punishment is prescribed for waging was against Government of India?
A:-Death
B:-Imprisonment for life
C:-Fine
D:-All of the above
Correct Answer:- Option-D
Question11:-Which of the following chapter of IPC deals with offences against property?
A:-Chapter XV
B:-Chapter XVI
C:-Chapter XVII
D:-Chapter XVIII
Correct Answer:- Option-C
Question12:-Whoever voluntarily obstructs any person so as to prevent that person from proceeding in any direction in which the person has a right
to proceed, is committed the offence of
A:-Wrongful confinement
B:-Criminal force
C:-Wrongful restraint
D:-All of the above
Correct Answer:- Option-C
Question13:-Which of the following section defines a 'Coin'?
A:-Section 13
B:-Section 15
C:-Section 18
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D:-None of the above
Correct Answer:- Option-D
Question14:-A shakes his fist at Z, intending or knowing it to be likely that he may thereby cause Z to believe that A is about to strike Z. What is the
offence committed by A?
A:-Hurt
B:-Mischief
C:-Assault
D:-None of the above
Correct Answer:- Option-C
Question15:-A instigated B to murder C. B refuses to do so. What is the status of A?
A:-Abettor
B:-Offender
C:-Innocent
D:-None of the above
Correct Answer:- Option-A
Question16:-Which of the following section deals with the offence of obstructing any public servant in the discharge of his public functions?
A:-Section 172
B:-Section 176
C:-Section 182
D:-Section 186
Correct Answer:- Option-D
Question17:-What is the minimum punishment prescribed for an offence involving the trafficking of more than one minor?
A:-20 years
B:-14 years
C:-10 years
D:-7 years
Correct Answer:- Option-B
Question18:-A having joint property with B in a horse, shoots the horse, intending thereby to cause wrongful loss to B. What is the offence
committed by A?
A:-Mischief
B:-Dacoity
C:-Extortion
D:-Trespass
Correct Answer:- Option-A
Question19:-What is the minimum punishment prescribed for Gang rape?
A:-10 years
B:-14 years
C:-20 years
D:-No minimum punishment
Correct Answer:- Option-C
Question20:-Every person who holds any office by virtue of which he is empowered to place or keep any person in confinement is a
A:-Public office
B:-Judge
C:-Servant of Government
D:-Person
Correct Answer:- Option-A
Question21:-A law applicable to a particular subject is known as
A:-Particular Law
B:-General Law
C:-Local Law
D:-None of the above
Correct Answer:- Option-D
Question22:-Find the chapter under which the offence of disobeying any rule for putting any vessel into a state of quarantine with the shore is
included
A:-Chapter XilI
B:-Chapter XIV
C:-Chapter XV
D:-None of the above
Correct Answer:- Option-B
Question23:-Find the section which deals with procuration of a minor child?
A:-Section 363A
B:-Section 364A
C:-Section 366A
D:-Section 370A
Correct Answer:- Option-C
Question24:-What is the offence committed by a person who monitors the use by a woman of the internet, e-mail or any other form of electronic
communication?
A:-Extortion
B:-Criminal breach of trust
C:-Criminal intimidation
D:-None of the above
Correct Answer:- Option-D
Question25:-Find the correct statement from the following :

Statement 1 : Right of private defence is available to protect one's own body

Statement 2 :  Right of private defence is available to protect the moveable property of another person
A:-Statement 1 only is correct
B:-Statement 2 only is correct
C:-Statement 1 and 2 are correct
D:-Both statements are incorrect
Correct Answer:- Option-C

Question26:-A by shooting at a fowl with intent to kill and steal it, kills B who is behind a bush; A not knowing that he was there. Which of the
following offence is committed by A?
A:-Culpable homicide
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B:-Culpable homicide amounting to murder
C:-Culpable homicide not amounting to murder
D:-None of the above
Correct Answer:- Option-D
Question27:-What is the maximum period of solitary confinement that can be awarded when the period of imprisonment exceeds one year?
A:-One month
B:-Two months
C:-Three months
D:-Four months
Correct Answer:- Option-C
Question28:-Six ways of entering into a house for committing the offence of house-breaking is provided in Section of IPC.
A:-Section 441
B:-Section 445
C:-Section 449
D:-Section 452
Correct Answer:- Option-B
Question29:-A makes an attempt to pick the pocket of Z by thrusting his hand into Z's pocket. A fails in the attempt in the consequence of Z's
having nothing in his pocket. Which of the following section deals with it?
A:-Section 511
B:-Section 378
C:-Section 464
D:-None of the above
Correct Answer:- Option-A
Question30:-The abetment of an offence is an offence. The abetment of such an abetment is
A:-Not an offence
B:-Also an offence
C:-An attempt to do the offence
D:-None of the above
Correct Answer:- Option-B
Question31:-Which of the following Section deals with attempt to commit culpable homicide?
A:-Section 307
B:-Section 309
C:-Section 311
D:-None of the above
Correct Answer:- Option-D
Question32:-Find the section which deals with kidnapping from India?
A:-Section 360
B:-Section 361
C:-Section 362
D:-All of the above
Correct Answer:- Option-A
Question33:-Find the chapter which deals with defamation
A:-Chapter XXII
B:-Chapter XXI
C:-Chapter XXA
D:-Chapter XX
Correct Answer:- Option-B
Question34:-'Cruelty’ of husband towards wife is defined under
A:-Section 489
B:-Section 489A
C:-Section 498
D:-Section 498A
Correct Answer:- Option-D
Question35:-Find the correct statement as per IPC
A:-A common nuisance is excused on the ground that it causes some convenience or advantage
B:-Public nuisance not otherwise made expressly punishable under IPC are exempted from the application of IPC
C:-Both (1) and (2)
D:-Neither (1) nor (2)
Correct Answer:- Option-D
Question36:-What is the maximum punishment prescribed for unnatural offences?
A:-Imprisonment for life
B:-Imprisonment for ten years
C:-Imprisonment for 7 years
D:-None of the above
Correct Answer:- Option-A
Question37:-Which of the following is a grievous hurt?
A:-Privation of any joint
B:-Fracture of a tooth
C:-Both (1) and (2)
D:-Neither (1) nor (2)
Correct Answer:- Option-C
Question38:-Section 497 of IPC deals with
A:-Adultery
B:-Robbery
C:-Dacoity
D:-Defamation
Correct Answer:- Option-A
Question39:-Which of the following section deals with 'Sedition'?
A:-Section 121A
B:-Section 124A
C:-Section 121
D:-Section 124
Correct Answer:- Option-B
Question40:-Whoever does anything with the intention of causing wrongful gain to one person is said to do that thing
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A:-Fraudulently

B:-lllegally

C:-Dishonestly

D:-Purposefully

Correct Answer:- Option-C
Question41:-Rigorous imprisonment means

A:-Imprisonment with hard labour

B:-Imprisonment in isolation

C:-Imprisonment without rigorous punishment

D:-None of the above

Correct Answer:- Option-A

Question42:-A, a soldier fires on a mob by the order of his superior officer, in conformity with the commands of the law. A has

(Fill in the blanks)
A:-Committed an
B:-Committed no
C:-Attempted to commit an
D:-Prepared to commit an
Correct Answer:- Option-B
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offence.

Question43:-What is the minimum imprisonment prescribed for the offence of assault or criminal force to women with intent to outrage her

modesty?
A:-One year
B:-Two years
C:-Three years
D:-Four years
Correct Answer:- Option-A
Question44:-Which of the following sections provides punishment for bribery under IPC?
A:-Section 171A
B:-Section 171B
C:-Section 171C
D:-None of the above
Correct Answer:- Option-D

Question45:-What is the punishment prescribed for harbouring an offender who has committed a capital offence?

A:-Lift imprisonment and fine
B:-Imprisonment for 10 years and fine
C:-Imprisonment for 5 years and fine
D:-None of the above
Correct Answer:- Option-C
Question46:-Which of the following is an essential element for application of Section 318 IPC?
A:-Causing miscarriage
B:-Secret disposal of dead body
C:-Abandonment of child
D:-Causing death of quick unborn child
Correct Answer:- Option-B
Question47:-What is the age limit prescribed for a child under Section 369 IPC?
A:-7 years
B:-12 years
C:-16 years
D:-None of the above
Correct Answer:- Option-D
Question48:-Which of the following is a punishable offence under IPC?
A:-Omission to give notice to public servant by person legally bound to give it

B:-Refusing to sign a statement made by him when required to sign that statement by a legally competent public servant

C:-Omission to produce an electronic record to public servant by person, legally bound to produce it

D:-All of the above
Correct Answer:- Option-D

Question49:-Z, a mad person under the influence of madness attempts to kill A. Find the correct legal position under IPC from the following

A:-Z is guilty of the offence and A has the right to Private defence
B:-Z is guilty of the offence and A has no right to Private defence
C:-Z is guilty of no offence and A has the right to Private defence
D:-Z is guilty of no offence and A has no right to Private defence
Correct Answer:- Option-C

Question50:-Find the correct statement from the following :

Statement 1 : Section 334 is subjected to the same provisos under exception 1 of section 300

Statement 2 : For the purposes of section 326A, permanent or partial damage or deformity shall be required to be irreversible

A:-Statement 1 only is correct
B:-Statement 2 only is correct
C:-Statement 1 and 2 are correct
D:-Both statements are incorrect
Correct Answer:- Option-A
Question51:-Which of the following chapter deals with offences relating to Navy?
A:-Chapter VI
B:-Chapter VIII
C:-Chapter X
D:-None of the above
Correct Answer:- Option-D
Question52:-Which of the following is exploitation under Section 370 IPC?
A:-Servitude
B:-Forced removal of organs
C:-Sexual exploitation
D:-All of the above
Correct Answer:- Option-D

Question53:-A is a warehouse keeper. Z, going on a journey entrusts his furniture to A, under a contract that it shall be returned on payment of a

stipulated sum for ware-house room. A dishonestly sells the goods. What is the offence committed by A?
A:-Criminal breach of trust
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B:-Extortion
C:-Receiving stolen property
D:-None of the above
Correct Answer:- Option-A
Question54:-If the act by which the death is caused is done with the intention of causing death it is known as
A:-Culpable homicide not amounting to murder
B:-Culpable homicide amounting to murder
C:-Justifiable homocide
D:-None of the above
Correct Answer:- Option-B
Question55:-Whoever causes bodily pain, disease or infirmity to any person is said to cause
A:-Injury
B:-Assault
C:-Damage
D:-None of the above
Correct Answer:- Option-D
Question56:-What is the punishment provided under Section 143 IPC for being a member of an Unlawful Assembly?
A:-Simple imprisonment for a term which may extend to six months, or with fine or with both
B:-Rigorous imprisonment for a term which may extend to six months, or with fine or with both
C:-Imprisonment of either description for a term which may extend to six months, or with fine or with both
D:-Imprisonment of either description for a term which may extend to ten months, or with fine or with both
Correct Answer:- Option-C
Question57:-A puts jewels into a box belonging to Z, with the intention that they may be found in that box, and that this circumstances may cause Z
to be convicted of theft. find the section under which the offence is committed
A:-Section 191
B:-Section 192
C:-Section 211
D:-Section 212
Correct Answer:- Option-B
Question58:-The offence of showing pornography against the will of a woman is known as
A:-Voyeurism
B:-Stalking
C:-Mischief
D:-Sexual Harassment
Correct Answer:- Option-D
Question59:-What is the minimum punishment prescribed for use of criminal force to woman with intent to disrobe?
A:-One year
B:-Two years
C:-Three years
D:-Four years
Correct Answer:- Option-C
Question60:-The offence of "Voyeurism" is incorporated into IPC by
A:-The Criminal Law (Amendment) Act. 2010
B:-The Criminal Law (Amendment) Act. 2012
C:-The Criminal Law (Amendment) Act. 2014
D:-None of the above
Correct Answer:- Option-D
Question61:-Which section of Indian Penal Code defined 'appropriate Government'?
A:-Section 52 A
B:-Section 53 A
C:-Section 55 A
D:-None of the above
Correct Answer:- Option-C
Question62:-Which section provided for the exception of an act of a judge when acting judicially?
A:-Section 76
B:-Section 77
C:-Section 78
D:-Section 79
Correct Answer:- Option-B
Question63:-Culpable homicide is defined under of IPC.
A:-Section 298
B:-Section 299
C:-Section 300
D:-Section 301
Correct Answer:- Option-B
Question64:-Which of the following is not an offence against property?
A:-Voyeurism
B:-Extortion
C:-Mischief
D:-All of the above
Correct Answer:- Option-A
Question65:-A places men with firearms at the outlet of a building, and tells Z that they will fire at Z if Z attempts to leave the building. What is the
offence committed by A?
A:-Wrongful mischief
B:-Wrongful restraint
C:-Wrongful confinement
D:-None of the above
Correct Answer:- Option-C
Question66:-Which of the following is exempted from the application of Section 292 IPC?
A:-Any obscene representation sculptured on any ancient monument
B:-Receiving profits from any business related to obscene objects
C:-lImport or export of any obscene object
D:-All of the above
Correct Answer:- Option-A
Question67:-Whenever force or violence is used by an unlawful assembly every member of such assembly is guilty of the offence of
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A:-Assault
B:-Stalking
C:-Mischief
D:-None of the above
Correct Answer:- Option-D
Question68:-A person intending to practice deception causes a genuine coin to appear like a different coin. What offence is committed by A?
A:-Cheating
B:-Counterfeiting coin
C:-Fabricating coin
D:-Altering coin
Correct Answer:- Option-B
Question69:-What is the age prescribed for a male minor child under Section 361 of IPC?
A:-18 years
B:-16 years
C:-14 years
D:-None of the above
Correct Answer:- Option-B
Question70:-Find the section which gives exemption to a wife from punishment for giving harbour to her husband
A:-Section 131
B:-Section 133
C:-Section 136
D:-Section 139
Correct Answer:- Option-C
Question71:-Whoever commits lurking house trespass after sunset and before sunrise is said to commit
A:-Criminal trespass
B:-House-trespass
C:-Lurking house-trespass
D:-Lurking house-trespass by night
Correct Answer:- Option-D
Question72:-A, an innocent person is convicted and executed in consequence of a false evidence given by B, who intentionally gave the false
evidence to procure the conviction of capital offence to A. What is the maximum punishment prescribed for B under IPC?
A:-Simple imprisonment for ten years
B:-Imprisonment for life
C:-Death
D:-None of the above
Correct Answer:- Option-C
Question73:-A, for the purpose of inducing B to desist from prosecuting a civil suit, threatens to burn B's house. What is the offence committed by A?
A:-Criminal intimidation
B:-Criminal breach of trust
C:-Criminal trespass
D:-Criminal misappropriation of property
Correct Answer:- Option-A
Question74:-Find the section which give complete immunity to a child for an offence?
A:-Section 80
B:-Section 84
C:-Section 88
D:-None of the above
Correct Answer:- Option-D
Question75:-Find the correct statement from the following :

Statement 1 : To constitute an Offence under Section 188 it is necessary that the offender should intend to produce harm, or contemplates his
disobedience as likely to produce harm.

Statement 2 : The punishment prescribed under Section 179 is simple imprisonment up to 6 months or with fine upto Rupees 1000 or with both.
A:-Statement 1 only is correct
B:-Statement 2 only is correct
C:-Statements 1 and 2 are correct
D:-Both statements are incorrect
Correct Answer:- Option-B
Question76:-A picks up a cheque on a banker signed by B, payable to bearer, but without any sum having been inserted in the chque. A fraudulently
fills up the cheque by inserting the sum of ten thousand rupees. What is the offence committed by A?
A:-Defamation
B:-Critical intimidation
C:-Extortion
D:-Forgery
Correct Answer:- Option-D
Question77:-Section 161 to 165A of IPC is repealed by
A:-The Criminal Law (Amendment) Act 2013
B:-The Information Technology Act 2000
C:-The Right to Information Act 2005
D:-The Prevention of Corruption Act 1988
Correct Answer:- Option-D
Question78:-Which of the following section defined 'Force'?
A:-Section 348
B:-Section 349
C:-Section 350
D:-Section 351
Correct Answer:- Option-B
Question79:-Find the punishment prescribed for intentional import or export of counterfeit coin
A:-Simple imprisonment
B:-Rigorous imprisonment
C:-lImprisonment of either description
D:-None of the above
Correct Answer:- Option-C
Question80:-Which of the following offence is dealt under Section 354D of IPC?
A:-Stalking
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B:-Trafficking of person
C:-Voyeurism
D:-None of the above
Correct Answer:- Option-A
Question81:-What is the maximum limit to imprisonment for non-payment of fine, when imprisonment and fine are awardable?
A:-Shall not exceed the term of imprisonment which is the maximum fixed for the offence
B:-Shall not exceed one-half of the term of imprisonment which is the maximum fixed for the offence
C:-Shall not exceed one-fourth of the term of imprisonment which is the maximum fixed for the offence
D:-Shall not exceed one-eighth of the term of imprisonment which is the maximum fixed for the offence
Correct Answer:- Option-C
Question82:-The right of a person to stand as a candidate in the election under IPC is known as
A:-Voting right
B:-Candidate right
C:-Democratic right
D:-Electoral right
Correct Answer:- Option-D
Question83:-A finds a valuable ring, not knowing to whom it belongs, A sells it immediately without attempting to discover the owner. Find the
section under which the offence is committed
A:-Section 403
B:-Section 405
C:-Section 410
D:-None of the above
Correct Answer:- Option-A
Question84:-A, a landholder, knowing of a commission of a murder within the limits of his estate, willfully misinforms the Magistrate of the district
that the death has occurred by accident in consequence of the bite of a snake. Find the section under which the offence is committed?
A:-Section 176
B:-Section 177
C:-Section 178
D:-Section 179
Correct Answer:- Option-B
Question85:-Which of the following offence includes an element of agreement?
A:-Sedition
B:-Affray
C:-Criminal Conspiracy
D:-None of the above
Correct Answer:- Option-C
Question86:-Find the offence coming under Chapter XIlI of IPC
A:-Unlawfully taking coining instrument from mint
B:-Disobedience to Quarantine rule
C:-Both (1) and (2)
D:-Neither (1) nor (2)
Correct Answer:- Option-A
Question87:-A cheats by pretending to be B, a person who is deceased. Find the section under which the offence is committed.
A:-Section 425
B:-Section 441
C:-Section 497
D:-None of the above
Correct Answer:- Option-D
Question88:-Whoever, at any time after the passing of this Act, shall have been habitually associated with any other or others for the purpose of
committing robbery or child-stealing by means of or accompanied with murder is known as
A:-Gangster
B:-Thug
C:-Mugger
D:-Ruffian
Correct Answer:- Option-B
Question89:-The right of private defence of property extends to the voluntary causing the death of the wrongdoer subjected to the restrictions
mentioned under of IPC.
A:-Section 98
B:-Section 99
C:-Section 100
D:-None of the above
Correct Answer:- Option-B
Question90:-What is the liability of an abettor when one act is abetted and a different act is done?
A:-The abettor is not liable
B:-The abettor is liable for the act abetted
C:-The abettor is liable for the act done
D:-The abettor is liable only when he knows about the possibility of a different act being done
Correct Answer:- Option-C
Question91:-What is the maximum punishment prescribed for abetment of suicide of a person less than eighteen years of age?
A:-Death
B:-Life imprisonment
C:-Rigorous imprisonment for ten years
D:-Simple imprisonment for ten years
Correct Answer:- Option-A
Question92:-What is the maximum amount of fine prescribed for committing 'Affray'?
A:-Rupees 100
B:-Rupees 200
C:-Rupees 500
D:-None of the above
Correct Answer:- Option-A
Question93:-What is the punishment prescribed for publication of false statement in relation to the personal character or conduct of any candidate
in an election?
A:-Find
B:-Simple imprisonment
C:-Imprisonment of any type

7 of 8 Wednesday 20 April 2022 10:39 AM



Home Page http://192.168.1.6/dept/modules/marklist/answe...

D:-All of the above

Correct Answer:- Option-A
Question94:-Emasculation is a

A:-Hurt

B:-Grievous hurt

C:-Criminal force

D:-Stalking

Correct Answer:- Option-B
Question95:-Property mark is defined under

A:-Section 479

B:-Section 478

C:-Section 477

D:-Section 476

Correct Answer:- Option-A
Question96:-A being an officer directed by law to take property in execution, in order to satisfy a decree pronounced in A's favour by a court of
justice, knowingly disobeys that direction of law, with the knowledge that he is likely thereby to cause injury to Z. Find the section under which the
offence is committed by A.

A:-Section 166

B:-Section 166A

C:-Section 166B

D:-None of the above

Correct Answer:- Option-A
Question97:-Trespassing on burial places is an offence

A:-Against public tranquility

B:-Affeting public morals

C:-Relating to religion

D:-Affecting public safety

Correct Answer:- Option-C
Question98:-What is the minimum punishment prescribed for sexual intercourse by husband upon his wife, during separation, without her consent?

A:-One year

B:-Two years

C:-Three years

D:-No minimum punishment

Correct Answer:- Option-B
Question99:-Which of the following punishment is repealed from IPC?

A:-Transportation

B:-Solitary confinement

C:-Both (1) and (2)

D:-Neither (1) nor (2)

Correct Answer:- Option-A
Question100:-Find the correct statement from the following :
Statement 1 : The causing of the death of a child in the mother's womb is not homicide.
Statement 2 : Culpable homicide is not murder when the person whose death is caused, being above the age 18 years, suffers death or takes the
risk of death with his own consent

A:-Statement 1 only is correct

B:-Statement 2 only is correct

C:-Statements 1 and 2 are correct

D:-Both statements are incorrect

Correct Answer:- Option-C
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